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E Faults (L1)[AT,DT]: [0.400200, 0.389944]

- Faults (NC): [0.40028198, 3.6006(756]

EFaults (PS): [0.40028198, 3.6006756] E
Faults (PC): [0.40028198, 3.6006(756] :

519, 0.01506Q7] |

Shot #: 2607, Param Tree: 72
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= Overcurrent Trip (DCPS)
F Auctioneered Data (idl)

T

F Condjtioned Data (DCPS), Limits: [

-4 -2 0 2 4
time

(o]

[ Full Action (DCPS),ILimit - 1100.0000, Max.=2134.5041, End Val. 2133.78621
[_Action (idl), Max = 2133.78, End Val.= 2133.78 |
[ Full Action (idl), Limit = 1100.00, Max.=2134.50
| Shot #: 2607, Param Tree: 72

| Fault Time: 1.9168786

[ Faults (L1) [AT,DT]: [0.400200, 0.389944]
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-4 -2 0 2 4

(o]

time
E_IDL, Circular, [-39.9819, 0.0150570]
DCPS, Circular, [-39.981902, 0.015057032]
IDL, Shaped [Displaced], [-39.9823, 0.0149569]

DCPS, Shaped [Displaced], [-39.982300, 0.014956883]
Shot #: 2607, Param Tree: 72
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